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1. If                 then        
         

(A) √       (B) 
 

 
     

(C) x       (D) None of these 

2. If                 then         
         

(A) 1   (B) 2        (C) 3 (D) 4 

3. If                then        
          
(A) 0   (B) 1       (C) 2 (D) 3 

4. If                      then  

                       

(A) 250   (B) 100    (C) 200     (D) 150 

5. If (     ) sinθ + 2abcos  =       
th   ta θ     

(A) 
   

       (B) 
     

   
 

(C) 
   

       (D) 
     

   
 

6. 3              + 6       
       + 4 (      +       ) = ?  
(A) 4    (B) 1       (C) 9 (D) 13 

7. If cosec A+cotA = 
  

 
  then tan A = ? 

(A) 
  

  
  (B) 

  

  
   (C) 

  

   
    (D) 

   

  
 

8. If 5tanθ = 4, then 
           

           
 = ? 

(A) 0   (B) 1    (C) 1/6     (D) 6 

9. sinA + 2sin2A + sin3A is equal to 

which of the following ? 

1. 4sin2A     (
 

 
)  

2. 2sin2A (   
 

 
    

 

 
)
 

 

3. 8sinAcosA    (
 

 
) 

Select the correct answer using the 

code given below: 
(A) only1 or 2 (B) only2 or 3 

(C) only1 or 3 (D) 1,2, or 3 

 

1- ;fn                rc        

         

(A) √       (B) 
 

 
     

 (C) x       (D) buesa ls dksbZ ugha 
2- ;fn                 rc         

         
 (A) 1 (B) 2            (C) 3           (D) 4 

3- ;fn If                rc        

          
 (A) 0 (B) 1           (C) 2          (D) 3 

4- ;fn                      rc  

                       
 (A) 250   (B) 100 

 (C) 200              (D) 150 

5- ;fn (     ) sinθ + 2abcos  =       

rc   ta θ     

(A) 
   

       (B) 
     

   
 

(C) 
   

       (D) 
     

   
 

6- 3             + 6              

+ 4 (      +       ) = ? 
 (A) 4 (B) 1          (C) 9         (D) 13 

7- ;fn cosec A+cotA = 
  

 
  rks tan A = ? 

(A) 
  

  
     (B) 

  

  
      (C) 

  

   
    (D) 

   

  
 

8- ;fn 5tanθ = 4, rks  
           

           
 = ? 

 (A) 0 (B) 1        (C) 1@6      (D) 6 

9- sinA + 2sin2A + sin3A fuEufyf[kr esa ls 

fdlds cjkcj gSa\ 

1. 4sin2A     (
 

 
)  

2. 2sin2A (   
 

 
    

 

 
)
 

 

3. 8sinAcosA    (
 

 
) 

uhps fn, x, dwV dk iz;ksx dj lgh mÙkj pqfu,% 

 (A) dsoy 1 vkSj 2 (B) dsoy 2 vkSj 3 

 (C) dsoy 1 vkSj 3  (D) 1]2] vkSj 3 
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10. If  x = sin   .sin    and y = cos   . 

cos    
, then xy equals to : 

(A) 1/16  (B) 1/8 

(C) 1/4  (D) 1/2 

11. If    θ     θ     θ     θ  = 

4 then    θ     θ     θ  
    θ  equals to : 

(A) 0   (B) 1 

(C) 2   (D) 4 

12. If x cos θ + y sin θ = z then       θ  
        equals to: 

(A)          (B)          

(C)          (D)          

13. If sin    = 
√   

 
 then sin    equals 

to: 

(A) 
√  √    √  √ 

 
 (B) 

√  √    √  √ 

 
 

(C) 
√  √    √  √ 

 
 (D) 

√  √    √  √ 

 
 

14. sin    - sin   +sin    = ? 

(A) 1   (B) 0 

(C) 1/2  (D) 2 

15.         -         = ? 

(A) 
√     

 
  (B) 

√    

 
 

(C) 
√     

 
  (D) 

√     

 √ 
 

16. The order and degree of the 

differential equation   
 (A) 1 and 1/2  (B) 2 and 1  

 (C) 1and 1           (D) 1 and 2 

17. The differential for the curves y = q 

, where p and q are arbitrary 

constants, is      

  (a)   (b)   

       (c)   (d)  

 

 

10- ;fn x = sin   .sin    vkSj y = cos   . 

cos    
,rks xy fdlds cjkcj gS\ 

 (A) 1@16  (B) 1@8 

 (C) 1@4              (D) 1@2 

11- ;fn    θ     θ     θ     θ  = 

4 gks rks    θ     θ     θ  
    θ  fdlds cjkcj gS\ 

 (A) 0   (B) 1 

 (C) 2              (D) 4 
12- ;fn x cos θ + y sin θ = z gks rks       θ  

       dk eku D;k gS\ 

(A)          (B)          

(C)          (D)          

13- ;fn sin    = 
√   

 
 gks rks sin    

dk eku 

D;k gS\ 

(A) 
√  √    √  √ 

 
 (B) 

√  √    √  √ 

 
 

(C) 
√  √    √  √ 

 
 (D) 

√  √    √  √ 

 
 

14- sin    - sin   +sin    = ? 
 (A) 1   (B) 0 

 (C) 1@2              (D) 2 

15-         -         = ? 

(A) 
√     

 
  (B) 

√    

 
 

(C) 
√     

 
  (D) 

√     

 √ 
 

16- vody lehdj.k  dh dksfV o 

?kkr Øe'k% gS&   

 (A) 1 o 1/2  (B) 2 o 1  

 (C) 1 o 1            (D) 1 o 2 

17- oØ ladk; y = q , tgk¡ ij p rFkk q 

LosPN vpj gSa] ds fy;s vody lehdj.k gS& 

 (a)   (b)   

     (c)   (d)  

 

0x7
y

dy
4

d

dy


)px(cos 

0y
dx

yd

2

2

 0
dx

yd

2

2



  0pxcos
dx

yd
2

2

   0pxcos
dx

yd
2

2



0x7
y

dy
4

d

dy


)px(cos 

0y
dx

yd

2

2

 0
dx

yd

2

2



  0pxcos
dx

yd
2

2

   0pxcos
dx

yd
2

2


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18. The differential equation for all the 

straight lines which are at a unit 

distance from the origin is :  

   

 (a)  (b)   

 (c)  (d)  

19. An integrating factor for the 

differential equation :  

( is: 

  (a)   (b)   

  (c)    (d)  

20. Solution of the differential equation :  

  is : 

 (a)  (b)   

 (c)   (d)  
 where p is an arbitrary constant : 

21. Solution of the differential equation : 

 is:  

 (a)  (b)   

 (c)  (d)    

 Where p is an arbitrary constant. 

22. The order of the differential equation 

is :  

    (A) 1    (B) 2 

(C) 3   (D) 4 

23. The order of differential equation 

is   

(A) 2   (B) 3 

(C) 1   (D) 4 

 

 

 

18- mu lHkh ljy js[kkvksa ds fy, tks ewy fcUnq ls 

bdkbZ nwjh ij gSa] vody lehdj.k gS& 

(a)   

(b)  

(c)   

(d)  

19- vody lehdj.k ds 

fy;s lekdy [k.M gS&  

(a)   (b)   

(c)   (d)  

20- vody lehdj.k 

dk gy gS& 

(a)   (b)   

(c)      (d)  

tgk¡ p LosPN vpj gSaA 

21- vody lehdj.k  dk gy gS &  

(a)  (b)   

   (c)   (d)    

 tgk¡ p LosPN vpj gSaA 

22- dk Øe gS %     

    (A) 1     (B) 2 

 (C) 3              (D) 4 

23- vody lehdj.k dh 

dksfV gS 

(A) 2   (B) 3 

(C) 1   (D) 4 
  

22

dx

dy
1

dx

dy
xy 



















22

dx

dy
1

dx

dy
xy 



















22

dx

dy
1

dx

dy
xy 



















22

dx

dy
1

dx

dy
xy 



















    0dyxytandxy1 12  

ytan 1
ye

1tan

2y1

1

  2y1x

1



  0dyysece1dxytane3 2xx 

py2cosex    pytane1 3x 

  pytane1 x   3xe-1pytan 

22 y3x
dx

dy
xy2 

223 pxyx  py
x

y

2

x 2
32



222 pxyx  322 pxyx 

3

dx

dy

dx

dy
/x

dx

dy
y 


















  3
2

2

xdxy
dx

dy
5

dx

yd

22

dx

dy
1

dx

dy
xy 



















22

dx

dy
1

dx

dy
xy 



















22

dx

dy
1

dx

dy
xy 



















22

dx

dy
1

dx

dy
xy 



















    0dyxytandxy1 12  

ytan 1
ye

1tan

2y1

1

  2y1x

1



  0dyysece1dxytane3 2xx 

py2cosex    pytane1 3x 

  pytane1 x   31pytan x
e-

22 y3x
dx

dy
xy2 

223 pxyx  py
x

y

2

x 2
32



222 pxyx  322 pxyx 

3

dx

dy

dx

dy
/x

dx

dy
y 


















  3
2

2

xdxy
dx

dy
5

dx

yd
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24. The straight line which satisfies the 

differential equation  and cuts an 

intercept 3 on the positive side of the 

y-axis is     

  

 (A) y = mx + C (B) y = mx + 3  

 (C) y = mx – 3 (D) y' = – mx + 3 

25. The solution of the differential 

equation  is  

(a)  (b)  

(c)  (d)  

26. Integrating factor of the differential 

equation  is  

(a)   (b)   

(c) 1 + x2   (d) (1 + x2)2 

27. Integrating factor of the differential 

equation  is  

(a)x (b)1/x   (c)y (d) 1/y 

28. The differential coefficient of the 

function x loge x with respect to x is : 

(a)  (b)  

(c)   (d)  

29. The differential coefficient of the 

function  with respect to x is 

(a)   (b)   

(c)   (d)  

30. The differential coefficient of the function 

 with respect to x is :  

(a) cosec x  (b) tan x  

(c) cos x  (d) sec x 

24- ljy js[kk tks vody lehdj.k  dks 

larq’V djrh gks y-v{k ij /kukRed fn”kk esa 3 

vUr% [k.M dkVrh gks] gS  

(A) y = mx + C (B) y = mx + 3  
(C) y = mx – 3 (D) y' = – mx + 3 

25- vody lehdj.k  dk gy gS  

(a)  (b)  

(c)  (d)  

26- vody lehdj.k  dk 

lekdyu xq.kd gS     

(a)   (b)   

 (c) 1 + x2
   (d) (1 + x2)2 

27- vody lehdj.k  dk lekdyu 

xq.kd gS 

(a) x   (b) 1/x  

(c) y   (d) 1/y 

28- Qyu x loge x dk x ds lkis{k vody xq.kkad gS 

& 

(a)  (b)  

(c)   (d)  

29- Qyu  dk x ds lkis{k vody 

xq.kkad gS & 

(a)  (b)   

(c)   (d)  

30- Qyu  dk x ds lkis{k vody 

xq.kkad gS & 

(a) cosec x  (b) tan x  

(c) cos x  (d) sec x 
 

  

m
dx

dy


y2yx exe
dx

dy  

C
3

x
ee

3
yx  C

3

x
ee

3
xy 

Cx2ea xy 
C

3

x
ee

3
xy 

22 x4xy2
dx

dy
)1x( 

2x1

1


22)x1(

1



y
dx

dy
)y2x( 3 

xlog.x2 e
)1x(loge  1xlog ex



xlog.
x

2
e xlog.x e

1xloge 













 

2

x1
cos 1

2x12

1




2x12

1



x1

1

 











 

2

x1
sin 1



















xsin1

xsin1
loge

m
dx

dy


y2yx exe
dx

dy  

C
3

x
ee

3
yx  C

3

x
ee

3
xy 

Cx2ea xy  C
3

x
ee

3
xy 

22 x4xy2
dx

dy
)1x( 

2x1

1

 22)x1(

1



y
dx

dy
)y2x( 3 

xlog.x2 e
)1x(loge  1xlog ex



xlog.
x

2
e xlog.x e

1xloge 













 

2

x1
cos 1

2x12

1




2x12

1



x1

1

 











 

2

x1
sin 1



















xsin1

xsin1
loge
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31. If , then y'(0) is :  

  (a)1   (b)2 tan   

  (c) tan   (d)sin  

32. If , then  is equal 

to   

  (a) 24   (b) 27  

  (c) 3 – 12x2 (d) – 24 

33. If f(x) = cos x, g(x) = log x and y = 

(gof) x, then  is equal to   

     
  (a)0 (b)1 (c) – 1 (d) 

34. If f(x) = loge [loge x], then f'(e) is equal 

to   

  (a) e–1     (b) e (c) 1 (d) 0 

35. If  then  is 

equal to- 
(a) xex   (b) y(x + 1)  

   (c) x(y + 1)   (d) y log (1 + x) 

36. The angle between the lines joining the 

origin to the points of intersection of 

the line 2y3x  and the curve 

4yx 22  is : 

  (a) /6   (b) /4  

  (c) /3   (d) /2 

37. The line ax + by + c = 0 is normal to 

the circle 0dfy2gx2yx 22  , if :  

  (a) ag + bf + c = 0   (b) ag + bf – c = 0  

  (c)ag – bf + c = 0  (d) ag – bf – c = 0 

38. x2 – 5xy + 6y2 + x – 3y = 0 

represents a pair of straight lines, then 

their point of intersection is :  

  (a) (1, 3)  (b) (– 1, – 3)  

  (c) (3, 1)  (d) (– 3, – 1) 

 

 

31- ;fn rks y'(0) dk eku 

gksxk &  

  (a)1   (b)2 tan   

  (c) tan   (d)sin  

32- ;fn , rks  dk eku gksxk 

& 

  (a) 24   (b) 27  

  (c) 3 – 12x2 (d) – 24 

33- ;fn f(x) = cos x, g(x) = log x rFkk y = (gof) x, rks 

 dk eku gksxk -    

 (a)0 (b)1 (c)– 1   (d)  

34- ;fn f(x) = loge [loge x], rks f'(e) dk eku gksxk&  

 (a) e–1 (b) e (c) 1 (d) 0 

35- ;fn  rks  dk 

eku gksxk& 

(a) xex   (b) y(x + 1)  
(c) x(y + 1)   (d) y log (1 + x) 

36- mu ljy js[kkvksa ds chp dk dks.k tks ewyfcUnq dks 

ljy js[kk 
2y3x 
vkSj oØ 

4yx 22 
ds 

çfrPNsnu fcUnqvksa ls feyrh gS] gS 

  (a) /6   (b) /4  

  (c) /3   (d) /2 

37- js[kk ax + by + c = 0 o`r 

0dfy2gx2yx 22 
ij vfHkyEc gS] ;fn 

(a) ag + bf + c = 0 (b)ag + bf – c = 0  

   (c) ag – bf + c = 0 (d) ag – bf – c = 0 

38- ;fn x2 – 5xy + 6y2 + x – 3y = 0 ,d ljy 

js[kk ;qXe dks çnf”kZr djrk gS] rks mudk çfrPNsn 

fcUnq gS &      

  (a) (1, 3)  (b) (– 1, – 3)  

  (c) (3, 1)  (d) (– 3, – 1) 
 













 

xsin.cos1

xsin.sin
siny 1

2

1

)xcos3cos(y 1 3

3

dx

yd

0xdx

dy












........,
!3

x

!2

x
xxy

43
2 

dx

dy
x













 

xsin.cos1

xsin.sin
siny 1

2

1

)xcos3cos(y 1 3

3

dx

yd

0xdx

dy












........,
!3

x

!2

x
xxy

43
2 

dx

dy
x
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39. If A = [aij]2×2, where 









jiif,j2i

jiif,ji
a 2ij , 

then A–1 =   

  (a) 








 21

14

9

1
  (b) 













13

30

9

1

 

  
(c) 









13

30

9

1

  
(d) N 

40. If 


















100

010

001

A

, then A
2
 + 2A is equal :

    

 (A) A  (B) 2A 

(C) 3A  (D) 4A 

41. If A = 








41

23
, then A (Adj A) is equal:

    

  (a) 








101

110
 (b) 









100

010
  

  (c) 








010

100
 (d) 









10

01
 

42. If 
IA

10

11










, then A is equal to   

  

  (a) 








10

11
  (b) 







 

10

11
  

  (c) 








10

11
  (d) 







 

10

11
 

43. If A and B are square matrices of order 

3 such that | A | = – 1, | B | = 3, then | 

3AB | is equal to     

(A)– 9    (B) – 81     (C) – 27      (D) 81 

44. The value of x for which the matrix 








 

x3

6x9

 is singular, is    

(a) – 3 (b) 0 (c) 3 (d) N 

45. The determinant 
0cbba

cbcb

baba







is 

equal to zero for all values of , if   

  (a) a, b, c are in A.P.    

  (b) a, b, c, are in G.P. 

  (c) a, b, c are in H.P.  (d)None 

39- ;fn A = [aij]2×2, tgk¡ 









jiif,j2i

jiif,ji
a 2ij , rks A–1 

=  

(a)









 21

14

9

1

  (b)













13

30

9

1

 

(c) 









13

30

9

1

  
(d) N 

  

40- ;fn 



















100

010

001

A , rks A2 + 2A  dk eku gksxk&  

(A) A  (B) 2A 

(C) 3A  (D) 4A 

41- ;fn A = 








41

23
, rks A (Adj A) dk eku gksxk &  

(a)









101

110

 (b) 









100

010

  

(c)









010

100

 (d) 









10

01

 

42- ;fn IA
10

11









, rks A dk eku gksxk 

(a)









10

11

  (b)







 

10

11

  

(c)









10

11

 (d) 







 

10

11

 

43- ;fn A rFkk B r`rh; Øe ds ,sls oxZ vkO;wg gSa fd | 

A | = – 1, | B | = 3, rks | 3AB | dk eku gksxk 

(A)– 9      (B) – 81      

(C) – 27        (D) 81 

44- x dk eku] ftlds fy, vkO;wg 






 

x3

6x9
 

vO;qRØe.kh; gS] gS 

(a) – 3 (b) 0 (c) 3 (d) N 

45- lkjf.kd 

0cbba

cbcb

baba







,  ds lHkh 

ekuksa ds fy, 'kwU; cjkcj gS] ;fn     

 (a) a,b, c lÛ JsÛ esa gS (b) a, b, c xqÛ JsÛ esa gS 

 (c) a, b, c gÛ JsÛ esa gS (d)  buesa ls dksbZ ugha 
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46. If one root of the determinant 
x67

2x2

73x

= 

0, is – 9 then the other two roots are  

       

  (a) 2, 7   (b) 2, – 7 (c)– 2, 7  (d) – 2, – 7 

47. If 
222

222

222

)1c()1b()1a(

)1c()1b()1a(

cba



 = k 
111

cba

cba 222

then the value of k is :    

(A) 1   (B) 2 

(C) 3   (D) 4 

48. If 

222

2

2

2

cba

cbcac

bcbab

acaba









then the 

value of  is : 

(A) 1   (B) 2 

(C) 3   (D) 4 

49. If 0

cccx

bbbx

aaax

32

32

32









 and a, b, c are 

distinct then x is equal to :  

 (a) 
ab

abc
 (b) 




ab

abc
 (c) 

abc

ab
 (d) 

abc

ab
 

50. If 0

c111

1b11

11a1









, then the value of 

a–1 + b–1 + c–1 is equal to :   

  (a)1 (b)– 1 (c) abc (d) None 

51. How many different signals can be 

made by 5 flags from 8 flags of 

different colours?         

(A) 10  (B) 6720 

(C) 20  (D) None 

52. If n = 
mC2, then the value of nC2 is 

equal to :         
  (a) (m + 1)C4 (b) (m + 2)C4  
  (c) (m + 1)C4  (d) 3 (m + 1)C4 

53. The value of 20P2 is :       

(A) 20  (B) 19 

(C) 380  (D) None 

 

46- ;fn lkjf.kd 

x67

2x2

73x

= 0 dk ,d ewy – 9 gS] rks 

vU; nks ewy gS 

 (A) 2] 7   (B) 2]&7 

 (C) &2] 7             (D) &2]&7 

47- ;fn 
222

222

222

)1c()1b()1a(

)1c()1b()1a(

cba



 = k 
111

cba

cba 222

rks 

k = 

 (A) 1   (B) 2 

 (C) 3              (D) 4 

48- ;fn 
222

2

2

2

cba

cbcac

bcbab

acaba









gks rks  dk eku gS& 

 (A) 1   (B) 2 

 (C) 3              (D) 4 

49- ;fn 0

cccx

bbbx

aaax

32

32

32









 rFkk a, b, c fHkUu gksa rks x 

dk eku gksxk &  

(a) ab

abc

  (b) 


ab

abc

  

(c)
abc

ab
  (d) 

abc

ab
 

50- ;fn 0

c111

1b11

11a1









, rks a–1 + b–1 + c–1 cjkcj 

gS & 

 (A) 1   (B) -1 

 (C) adc              (D) buesa ls dksbZ ugh 
51- 8 vyx&vyx rjg ds >aMksa ls pqus x;s 5 >aMksa 

}kjk fdrus fofHkUUk çdkj ds ladsrd cuk;s tk 

ldrs gS \ 

 (A) 10   (B) 6720 

 (C) 20              (D) buesa ls dksbZ ugh 
52- ;fn n = mC2 rk s 

nC2 dk eku gksxk & 

(a) (m + 1)C4  (b) (m + 2)C4  
(c) (m + 1)C4  (d) 3 (m + 1)C4 

53- 20P2 dk eku cjkcj gksxk & 

 (A) 20   (B) 19 

 (C) 380              (D) buesa ls dksbZ ugh  
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54. The value of nPr is equal to :       

 (A) 
r

n
   (B)

rn

n


  

 (C) 
rn

n


  (D) None 

55. The number of ways of posting five 

letters in four letter boxes, is 

  (A) 5
4
   (B) 4

5
  

  (C) 120  (D) 600   

56. The number of ways in which the 

digits 1, 2, 3, 4, 3, 2, 1 can be arranged 

so that the odd digits always occupy 

the odd places is  

  (A) 6    (B) 12 

  (C) 81    (D) 24 

57. A pair of fair dice is thrown independ-

ently, 4 times. The probability of getti-

ng a sum of exactly 7 twice is : 

  (A) 5/81   (B) 25/243  

  (C) 25/216  (D) 125/648 

58. The probability that the three cards, 

drawn from a pack of 52 cards, are all 

black, is :     

  (A) 1/17   (B) 2/17  

  (C) 3/17   (D) 2/19 

59. A man is known to speak truth 3 out of 

4 times. He throws a die and reports 

that it is 6. The probability that it is 

actually a 6, is : 

  (A)1/8  (B) 1/4     (C) 3/8  (D) 1/2 

60. There are 5 letters and 5 addressed 

envelopes. If the letters are placed at 

random, the probability that exactly 3 

letters are placed in right envelope is  

  (A) 
 

 
  (B) 

 

 
  (C) 

 

  
  (D) 

 

 
  

61. If 0 < P(A) < 1, 0 < P(B) < 1 and P(A 

 B) = P(A) + P(B) – P(A)P(B), then 

(A)  P(B/A) = P(B) – P(A)  

   (B)    

   (C)   

       (D)  P(A/B) = P(B) 

54- nPr dk eku gksxkA  

(A) 
r

n

   (B)
rn

n


  

(C) 
rn

n


  (D) buesa ls dksbZ ugh 

55- 5 i=ksa dks 4 Mkd cDlksa esa Mkyus ds dqy rjhds 

gSA  

(A) 5
4
   (B) 4

5
  

(C) 120   (D) 600   

56- vadksa 1, 2, 3, 4, 3, 2, 1 ls fdruh la[;k,¡ 

cukÃ tk ldrh gS] tcfd fo’ke vad fo’ke LFkkuksa 

ij gh vk,¡ \  

(A) 6   (B) 12 

(C) 81   (D) 24 

57- 'kq) ikalksa dk ,d ;qXe 4 ckj Lora= :Ik ls Qsadk 

x;kA vdksa dk ;ksx 7 dks nks ckj çkIr djus dh 

çkf;drk gS &  

(A) 5/81   (B) 25/243  

(C) 25/216  (D) 125/648 

58- 52 iÙkksa dh xM~Mh ls fudkys x;s rhuks iÙkksa ds 

dkyk gksus dh çkf;drk gS &  

(A) 1/17  (B) 2/17  

(C) 3/17  (D) 2/19 

59- ,d O;fDr 4 ckj esa ls 3 ckj lR; cksyus ds fy, 

tkuk tkrk gSA og ,d ikalk Qsadrk gS vkSj dgrk 

gS fd ;g 6 gSA ;g lpeqp 6 gS dh çkf;drk 

gksxh A 

(A)1/8   (B) 1/4      

(C) 3/8   (D) 1/2 

60- 5 i= rFkk 5 irs fy[ks fyQkQs gSA ;fn ;kn`fPNd 

:i ls i=ksa dks fyQkQksa esa j[kk tk,] rks 3 i=ksa 

ds lgh fyQkQksa esa j[ks tkus dh çkf;drk gS 

(A) 
 

 
 (B) 

 

 
  (C) 

 

  
          (D) 

 

 
 

61- ;fn 0 < P(A) < 1, 0 < P(B) < 1 rFkk P(A 

 B) = P(A) + P(B) – P(A)P(B), rks&   

(A)  P(B/A) = P(B) – P(A)  

(B)    

(C)   

(D)  P(A/B) = P(B) 

)B(P)A(P)BA(P 

)B(P)A(P)BA(P 

)B(P)A(P)BA(P 

)B(P)A(P)BA(P 
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62. A die is rolled three times. The 

probability of getting a larger number 

than the previous number each line is  

(A) 
 

  
    (B) 

 

  
   (C) 

  

   
    (D) 

 

  
 

63. Variance of the Binomial distribution 

is    

  (A) np  (B) nq  (C) npq (D)  

64. If ,  and 

 then  +  = 

(A) 1    (B) 0       (C) 2 (D) 3 

65. If  are four different vectors 

such that  and  then, 

  (A)   

  (B)  

  (C)   

  (D)  

66. If  are adjacent sides of a 

parallelogram, then  is a 

necessary and sufficient condition for 

the parallelogram to be a :   

  (A) Square (B) Rectangle  

  (C) Rhombus (D) Trapezium 

67. Let  

and   be three non-

zero vectors such that  is a unit vector 

perpendicular to both . If the 

angle between vectors  is then 

   
  (A) 0   (B) 1  

  (C)   

  (D)  

62- ,d ik¡ls dks rhu ckj Qsadk x;kA çR;sd ckj iwoZ 

çkIr la[;k ls cM+h la[;k dk çkIr djus dh 

çkf;drk gSA 

(A) 
 

  
   (B) 

 

  
 

(C) 
  

   
   (D) 

 

  
 

63- f}in caVu ds fy, çlj.k gS 

(A) np   (B) nq  

(C) npq   (D)  

64- ;fn , rFkk  

rks  +  = 

 (A) 1   (B) 0 

 (C) 2              (D) 3 
65- ;fn pkj fHkUu lfn'k  bl çdkj gaS fd 

 rFkk  rks 

(A)   

(B)  

(C)   

(D)  

66- ;fn  ,d lekUrj prqHkqZt dh vklUu Hkqtk,¡ gS 

rks ,d vko”;d rFkk i;kZIr çfrcU/k  

ds fy, lekUrj prqHkqZt gksxk &  

 (A) oxZ      (B) vk;r      

  (C) leprqHkqZt     (D) leyEc prqHkqZt 

67- ekuk rhu v'kwU; lfn'k  

rFkk 

 bl çdkj gSa fd  

ds yEcor~  ,d bdkÃ lfn”k gSA ;fn  

ds e/; dks.k gS] rks    

(A) 0   (B) 1  

(C)   

(D)  
 

  

npq

ĵîb,k̂ĵîa  îc 

  bacba




d,c,b,a

dcba


 dbca




d.bc.ad.cb.a




d.bc.ad.cb.a




d.b–c.ad.c–b.a




d.b–c.ad.c–b.a




b,a


|ba||ba|




k̂bĵbîbb,k̂aĵaîaa 321321 


k̂cĵcîcc 321 


c


banda


banda


6





2

321

321

321

ccc

bbb

aaa

  2
3

2
2

2
1

2
3

2
2

2
1 bbbaaa

4

1


   2
3

2
2

2
1

2
3

2
2

2
1

2
3

2
2

2
1 cccbbbaaa

4

3


npq

ĵîb,k̂ĵîa  îc    bacba




d,c,b,a

dcba


 dbca




d.bc.ad.cb.a




d.bc.ad.cb.a




d.b–c.ad.c–b.a




d.b–c.ad.c–b.a




b,a


|ba||ba|




k̂bĵbîbb,k̂aĵaîaa 321321 


k̂cĵcîcc 321 


ba


rFkk

c


ba


rFkk

6





2

321

321

321

ccc

bbb

aaa

  2
3

2
2

2
1

2
3

2
2

2
1 bbbaaa

4

1


   2
3

2
2

2
1

2
3

2
2

2
1

2
3

2
2

2
1 cccbbbaaa

4

3

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68. If , 

then k is equal to     

  (A) 1   (B) 2   (C) 3   (D) 4 

69. If  and , then 

 is equal to     

  (A) 11  (B) 41  (C) 23 (D) 19 

70. Each of the angle between the vectors 

 and  is equal to 600. If  

and , then is equal to   

(A) 10      (B) 15     

(C) 12      (D) 100 

71. Two vectors in xy-plane and 

perpendicular to are    

  (A)   (B)   

  (C)  (D) None 

72. If a and b represent the adjacent sides 

of a parallelogram whose area is 15 

unit, then the area of the parallelogram 

whose adjacent sides are  and 

 is   

  (A) 45 unit (B) 75 unit  

  (C) 105 unit (D) 165 unit 

73. The vector equation of the plane 

passing through three points A, B and 

C with position vectors  and 

 is       

  (A)  (B)   

  (C)      (D)  

74. If the lines 3x – 4y – 7 = 0 and 2x – 3y 

– 5 = 0 are two diameters of a circle 

whose area is 49 sq. units, then the 

equation of the circle is :   

  (A) 047y2x2yx 22   

  (B) 047y2x2yx 22    

  (C) 051y2x2yx 22    

  (D) 051y2x2yx 22   

68- ;fn ,  

rks k dk eku gksxk&   

(A) 1  (B) 2        (C) 3          (D) 4 
69- ;fn  rFkk , rks  dk 

eku gksxk& 

 (A) 11   (B) 41       (C) 23            (D) 19 

70- lfn'kksa  rFkk  ds e/; çR;sd dks.k 600 

gSA ;fn  rFkk , rks  

dk eku gksxkA 

 (A) 10     (B) 15           

 (C) 12        (D) 100 

71- ds yEcor~ rFkk xy-lery esa nks 

lfn'k gSa  

(A)   (B)   

(C)   (D) buesa ls dksbZ ugh 

72- ;fn ,d lekUrj prqHkqZt dh vklUu Hkqtk,¡ a rFkk 

b ls fu:fir gSa ftldk {ks=Qy 15 bdkÃ gS] rks 

ml lekUrj prqHkqZt dk {ks=Qy ftldh vklUu 

Hkqtk,¡  rFkk  ls fu:fir gSa] gksxk 

  (A) 45 unit (B) 75 unit  

  (C) 105 unit (D) 165 unit 

73- rhu fcUnqvksa A, B rFkk C ftuds fLFkfr lfn'k 

 rFkk  gSa ls xqtjus okys lery 

dh lfn'k lehdj.k gS 

(A)  (B)   

(C)      (D)  

74- ;fn js[kk,¡ 3x – 4y – 7 = 0 vkSj 2x – 3y – 5 

= 0 ml o`r ds nks O;kl gS ftldk {ks=Qy 49 
oxZ bdkÃ gS] rks ml o`r dk lehdj.k gS & 

(A) 047y2x2yx 22   

(B) 047y2x2yx 22    

(C) 051y2x2yx 22    

(D) 051y2x2yx 22   

  

   k
cba)ba()ac()ac()cb()cb()ba(




30|ba|,11|a| 


20|ba| 


|b|


b,a


c


2|b|,4|a| 


6|c| 


|cba|




k̂ĵ3î4 

5

ĵ4î3 












 


5

ĵ4î3













 


5

ĵ4î3

b2a3




b3a




k̂ĵ,ĵî 

îk̂ 

0)k̂ĵî(.r 


1)k̂ĵî(.r 


2)k̂ĵî(.r 


3)k̂ĵî(.r 


   k
cba)ba()ac()ac()cb()cb()ba(




30|ba|,11|a| 


20|ba| 


|b|


b,a


c


2|b|,4|a| 


6|c| 


|cba|




k̂ĵ3î4 

5

ĵ4î3 












 


5

ĵ4î3













 


5

ĵ4î3

b2a3


 b3a




k̂ĵ,ĵî  îk̂ 

0)k̂ĵî(.r 


1)k̂ĵî(.r 


2)k̂ĵî(.r 


3)k̂ĵî(.r 

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75. The locus of the mid point of chords of 

the circle x
2
 + y

2
 = 4 which subtend a 

right angle at the centre, is:   

  (A) x + y = 2  (B) x
2
 + y

2
 = 1  

  (C) x
2
 + y

2
 = 2  (D) x + y = 1 

76.  If the squares of the lengths of the 

tangents drawn from a point P to 

circles x
2
 + y

2
 = a

2
, x

2
 + y

2
 = b

2
, x

2
 + y

2
 

= c
2
 are in A.P., then :      

(A) a, b, c are in A.P.  

(B) a, b, c are in G.P. 

(C) a
2
, b

2
, c

2
 are in A.P. 

(D) a
2
, b

2
, c

2
 are in G.P. 

77. If three circles are such that each 

intersects the remaining two, then their 

radical axes :     

  (A) form a triangle (B) are coincident 

  (C) are concurrent  (D) are parallel 

78. A variable circle passes through a 

fixed point A(p, q) and touches x-axis. 

The locus of the other end of the 

diameter of this circle passing through 

A will be :    

  (a) (x – p)
2
 = 4qy  (b) (x – q)

2
 = 4py 

  (c) (x – p
)2

 = 4qy  (d) (y – q)
2
 = 4py 

79. The radius of the circle passing 

through the foci of the ellipse 

1
9

y

16

x 22


 and with centre (0, 3) is :  

(A) 4         (B) 3  

(C) 
 

 
       (D) √   

80. Circle ax
2
 + ay

2 
+ 2gx + 2fy + c = 0 

touches x-axis, if    

(A) f
2
 > ac  (B) g

2
 > ac  

(C) f
2
 = bc  (D) g

2
 = ac 

81. Length of intercept cut off by the circle 

x
2
 + y

2
 + 4x – 7y + 12 = 0 on y-axis is 

(A) 1   (B) 4 

(C) 3   (D) 7 

 

75- o`r x
2
 + y

2
 = 4 dh thok tks dsUæ ij ledks.k 

cukrh gS ds e/; fcUnq dk fcUnq iFk gS &  

(A) x + y = 2  (B) x
2
 + y

2
 = 1 

(C) x
2
 + y

2
 = 2 (D) x + y = 1 

76- fdlh fcUnqq x
2
 + y

2
 = a

2
, x

2
 + y

2
 = b

2
, x

2
 + 

y
2
 = c

2
 ij [khaps x;s Li'kZ js[kkvksa dh yEckÃ;ksa 

ds oxZ lekUrj Js.kh esa gS] rks   

(a) a, b, c lÛ JsÛ esa gS  

(b) a, b, c xqÛ JsÛ esa gS 

(c) a
2
, b

2
, c

2
 lÛ JsÛ esa gS  

(d) a
2
, b

2
, c

2
 xqÛ JsÛ esa gS 

77- ;fn rhu o`r bl çdkj gS fd çR;sd o`r 'ks"k nks 

o`rksa dks çfrPNsfnr djrk gS rks buds ewyk{k &  

(A) f=Hkqt fufeZr djrs gSa (B) laikrh gS 

(C) laxkeh gS  (D) lekUrj gS 

78- ,d pj o`r tks ,d fLFkj fcUnq A(p, q) ls 

xqtjrk gS rFkk x-v{k dks Li'kZ djrk gSA bl o`r 

ds fcUnq A ls xqtjus okys O;kl ds nwljs 'kh’kZ dk 

fcUnq iFk gksxk &  

(A) (x – p)
2
 = 4qy (B) (x – q)

2
 = 4py 

(C) (x – p
)2

 = 4qy (D) (y – q)
2
 = 4py  

79- nh?kZo`r 

1
9

y

16

x 22


 ds ukfHk ls xqtjus okys o`r 

rFkk ftldk dsUæ (0, 3) gS dh f=T;k gS &  

(A) 4         (B) 3  

(C) 
 

 
       (D) √   

80- o`r ax
2
 + ay

2 
+ 2gx + 2fy + c = 0 x-v{k dks 

Li'kZ djrk gS] ;fn 

(A) f
2
 > ac  (B) g

2
 > ac  

(C) f
2
 = bc  (D) g

2
 = ac 

81- o`r x
2
 + y

2
 + 4x – 7y + 12 = 0 }kjk y-v{k 

ij dkVs x;s vUr% [k.M dh yEckÃ gS  

 (A) 1   (B) 4 

 (C) 3              (D) 7 
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82. The value of  cosh (ax + b) is :  

  (A)   

  (B)   

  (C)  (D) None 

83. If 

then the value of by Simpson’s 

one-third rule is :   

  (A) 53.87333            (B) 53.78333  

  (C)53.60   (D) 53.98333 

84. If f(0) = 1, f(1) = 3.68, then the 

Trapezoidal rule gives approximate 

value of as  

  (A) 4.68   (B) 2.34  

  (C) 2.68   (D) 1.34 

85. Using method of false position, the 

real root of the equation x
3
 – 2x – 5 = 0 

is       

  (A) 2.509   (B) 2.089  

  (C) 2.809   (D) 2.098 

86. By using Newton-Raphson method, 

the root of x
4
 – x – 10 = 0 which is 

nearer to x = 2, correct to three places 

of decimal, is  

 (A) 2.021   (B) 1.856  

 (C) 1.956   (D) 1.586 

87. The mode of the distribution for which 

mean and standard deviation are 10 

and respectively  is : 

(A) 7   (B) 8  

(C) 9   (D)10 

88. The correlation coefficient between x 

and y from the following data is : 

  

      
  (A).89    (B).76  

  (C).91    (D).98 

 

82-  cosh (ax + b) dk eku gksxk &  

(A)   

(B)   

(C) (D) buesa ls dksbZ ugha 

83- ;fn 
,60.54e,09.20e,39.7e,72.2e,1e 43210 
 

gks] rks flEilu ds 3

1

 fu;e ls 


4

0

xdxe
 dk eku 

gS 

(A) 53.87333           (B) 53.78333  

(C)53.60   (D) 53.98333 

84- ;fn f(0) = 1, f(1) = 3.68 gks] rks leyEch; 

fule }kjk 

1

0
dx)x(f
dk yxHkx eku gS  

(A) 4.68   (B) 2.34  

(C) 2.68   (D) 1.34 

85- feF;k fLFkfr fof/k ls lehdj.k x
3
 – 2x – 5 = 0 

dk okLrfod ewy gS 

(A) 2.509  (B) 2.089  

(C) 2.809   (D) 2.098 

86- U;wVu jkQlu fof/k ls x
4
 – x – 10 = 0 dk x = 

2 ds lehi ewy rhu n'keyo LFkkuksa rd gS 

(A) 2.021  (B) 1.856  

(C) 1.956   (D) 1.586 

87- caVu dh cgqyd ftlds fy, ek/; vkSj ekud 

fopyu Øe'k% 10 vkSj gSa] gS 

(A) 7   (B) 8  

(C) 9   (D)10 

88- fuEu vkadMksa ls lglEcU/k xq.kkad x vkSj y ds 

chp gS 

 

     
(A).89    (B).76  

(C).91  (D).98 

  

2

b
sinhbx

2

b
asinh2 










2

b
sinhbx

2

b
acosh2 










x
2

b
coshx

2

b
sinh 

,60.54e,09.20e,39.7e,72.2e,1e 43210 


4

0

xdxe


1

0
dx)x(f

5

,220XY,50Y,40X 

10n,262Y,200X 22 

2

b
sinhbx

2

b
asinh2 










2

b
sinhbx

2

b
acosh2 










x
2

b
coshx

2

b
sinh 

5

,220XY,50Y,40X 

10n,262Y,200X 22 
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89. In a class of 100 students, there are 70 

boys whose average marks are 750. If 

the average marks of the complete 

class are 720, then the average marks 

of the girls are :  

(A) 700  (B) 650  

(C) 690  (D) 680 

90. If and n = 

10, then the coefficient of correlation 

is :     

  (A) 0.1   (B) 0.2  

  (C) 0.3   (D) 0.4 

91. If r = 0.5, , 

then n is equal to     

  (A)100   (B) 10  

  (C) 15   (D) 50 

92. Sum of series 
........

8

1

4

1

2

1
1 

is :  

(A) 2   (B) 3/2  

(C) 2/3  (D) 1/2 

93. The value of 80

81
log3

24

25
log5

15

16
log7 222 

is 

(A) 1  (B) )105(log2   

(C) 









8

9
log2

 (D) 









9

8
log2

 

94. The coefficient of xn in the series  

  









 ......

!3

)bxa(

!2

)bxa(

!1

bxa
1

32

is     

  (A) !n

)ab( n

  (B) !n

a
.e

n
b

  

  (C) !n

b
.e

n
a

  (D) !n

)ab(
e

n
ba

 

95. The value of 
 ........

!9

8

!7

6

!5

4

!2

2

is :  

  (A) e   (B) 
 

 
  

  (C) e

1
e 

  (D) e

1
e 

 

96. If ,73.2 x4xx 
then x =    

 (A)
6log7log

3log4

ee

e

  
(B) 

7log6log

3log4

ee

e


  

 (C)
6log7log

3log2

ee

e

  
(D) 

7log6log

4log3

ee

e


 

 

89- 100 fo|kfFkZ;ksa dh d{kk esa 70 yMds gS ftuds 

vkSlr vad 750 gSA ;fn iwjh d{kk ds vkSlr vad 

720 gksa] rks yMfd;ksa ds vkSlr vad gS & 

(A) 700  (B) 650  

(C) 690  (D) 680 

90- ;fn 

vkSj n = 10, rks lg&lEcU/k xq.kkad gS & 

(A) 0.1   (B) 0.2  

(C) 0.3   (D) 0.4 

91- ;fn r = 0.5, , rks n dk 

eku gksxkA 

(A)100   (B) 10  

(C) 15    (D) 50 

92- Js.kh  

........
8

1

4

1

2

1
1 

dk eku gS 

(A) 2   (B) 3/2  

(C) 2/3  (D) 1/2 

93- 
80

81
log3

24

25
log5

15

16
log7 222   dk eku gS 

(A) 1  (B) )105(log2   

(C) 









8

9
log2

 (D) 









9

8
log2

 

94- Js.kh 








 ......
!3

)bxa(

!2

)bxa(

!1

bxa
1

32

esa xn 

dk xq.kd gS 

 (A) !n

)ab( n

  (B) !n

a
.e

n
b

  

(C) !n

b
.e

n
a

  (D) !n

)ab(
e

n
ba

 

95-  ........
!9

8

!7

6

!5

4

!2

2
dk eku gS 

(A) e   (B) 
 

 
  

(C) e

1
e 

  (D) e

1
e 

 

96- ;fn ,73.2 x4xx 
gks rks x =   

(A) 6log7log

3log4

ee

e



 
(B) 7log6log

3log4

ee

e

   

(C) 6log7log

3log2

ee

e



 
(D) 7log6log

4log3

ee

e

   

4,3,24yx,0y,0x yxii 

   8,90x,120xy y
2

4,3,24yx,0y,0x yxii 

   8,90x,120xy y
2
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97. 
............

!7

8

!5

6

!3

4

!1

2


is equal to    

  (A) 
 

 
    (B) 2e  

  (C) e

1
e 

   (D) e 

98.  

............
!6

1

!4

1

!2

1
1

............
!5

2

!4

2

!3

2

!2

1
1

32





is equal to     

  (A) 
 

 
    (B) 8e  

  (C) 
 

 
    (D) )1e(2

)1e(e
2

2





 

99. 
............

81

1

4

5

27

1

3

4

9

1

2

3

3

1

3

2


is equal to  

  (A) 










2

3
log

2

1
e

  (B) loge 3 – loge 2 

  (C) log 6   (D) loge 2 – loge 3 

100. log4 2 – log8 2 + log16 2 – ……… is 

equal to     

  (A) e
2
    (B) loge 2 + 1  

  (C) loge 3 – 2  (D) 1 – loge 2 

101. If two longer sides of ABC are 10cm, 

9cm and its angles are in A.P. then 

length of third side may be    

  (A) only 65    (B)only 65    

  (C) 65and65    

  (D)Neither nor65  65   

102. The sides of a triangle are respectively 

7 cm, 34 cm and )13(  cm, then the 

smallest angle of the triangle is :  

  (A) 
 

 
    (B) 

 

 
   

  (c) 
 

 
    (d) 

 

 
  

103. If in a triangle ABC, a = 6cm, b = 8 

cm, c = 10 cm then the value of sin 2A 

is :   

  (A) 6/25   (B) 8/25  

  (C) 10/25  (D) 24/25 

 

97- 
............

!7

8

!5

6

!3

4

!1

2


dk eku gksxkA 

(A) 
 

 
    (B) 2e  

(C) e

1
e 

   (D) e 

98- 
............

!6

1

!4

1

!2

1
1

............
!5

2

!4

2

!3

2

!2

1
1

32





dk eku gksxk A 

(A) 
 

 
    (B) 8e  

(C) 
 

 
    (D) )1e(2

)1e(e
2

2





 

99- ............
81

1

4

5

27

1

3

4

9

1

2

3

3

1

3

2
  dk eku gksxkA 

(A) 










2

3
log

2

1
e

  (B) loge 3 – loge 2 

(C) log 6   (D) loge 2 – loge 3 

100- log4 2 – log8 2 + log16 2 – ……… dk eku gksxkA 

(A) e
2
    (B) loge 2 + 1  

(C) loge 3 – 2  (D) 1 – loge 2 

101- ,d f=Hkqt dh nks cMh Hkqtk,¡ Øe'k% 10 rFkk 9 

lseh gSA ;fn f=Hkqt ds dks.k lekUrj Js.kh esa gksa] 

rks rhljh Hkqtk dh yEckÃ gksxh %     

 (A) dsoy 65    (B) dsoy 65    

 (C) 6565  k;   

 (D)  u rks 65  u 65   

102- ,d f=Hkqt dh Hkqtk,¡ Øe'k% 7 lseh, 34
lseh 

rFkk 
)13(
lseh gksa rks f=Hkqt dk U;wure dks.k gS  

(A) 
 

 
    (B) 

 

 
   

(c) 
 

 
    (d) 

 

 
  

103- ;fn fdlh f=Hkqt ABC esa a = 6cm, b = 8 cm, c = 

10 cm gks rks sin 2A dk eku gS 

(A) 6/25   (B) 8/25  

(C) 10/25   (D) 24/25 
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104. If in a DABC, the altitude from the 

vertices A, B, C on opposite sides are 

in H.P., then sinA, sin B, sin C are in :   

(A) G.P.    

  (B) Arithmetic geometric progression   

  (C) A.P.   (D) H.P. 

105. If a, b, c are the sides of a ABC, then 

2

C
sin)ba(

2

C
cos)ba( 2222 

 is equal to   

(A) 1 (B) 2 (C) 3 (D) 4 

106. A flag is standing vertically on a tower of 

height b. On a point at a distance a from 

the foot of the tower, the flag and the 

tower subtend equal angles. The height of 

the flag is    

  (A)
22

22

ba

ba
.b





 (B)
22

22

ba

ba
.a





  

  (C)
22

22

ba

ba
.b





 (D) 
22

22

ba

ba
.a





 
107. The upper 3/4th portion of a vertical pole 

subtends an angle tan 3/5 at a point in the 

horizontal plane through its food and at a 

distance 40 m from the foot. A possible 

height of the vertical pole is :   

  (A) 20 m (B) 40 m  (C) 60 m (D) 80 m 

108. The shadow of a tower standing on a level 

ground is x metre long when the Suns 

altitude is 30º, while it is y metre long 

when the altitude is 60º. If the height of 

the tower is 2

3
45

metre then x – y is :  

  (A) 45 metre   (B) 345  metre 

  (C)
metre

3

45

  (D) 
metre

2

3
45

 

109. A man from the top of a 100 m high 

tower sees a car moving towards the 

tower at an angle of depression of 300. 

After some time, the angle of 

depression becomes 600. The distance 

travelled by the car during this time is 

(A) 100 3  m (B) 3

3200

 m  

(C) 3

3100

 m (D) 200 3  m 

104- ;fn ABC esa] 'kh"kksZ A, B, C ls lEeq[k Hkqtkvksa ij 

Mkys x;s 'kh"kZ yEc gjkRed Js.kh esa gS] rks sinA, 

sin B, sin C esa gS&  

(A) G.P.  (B) A.G.P.   

(C) A.P.  (D) H.P. 

105- ;fn ABC dh Hkqtk,¡ a, b, c gksa] rks 

2

C
sin)ba(

2

C
cos)ba( 2222  dk eku gksxkA 

 (A) 1   (B) 2 

 (C) 3              (D) 4 

106- Å¡pkbZ b dh ,d ehukj ij ,d >aMk Å/okZ/kj [kM+k 

gSA ehukj ds ikn ls a nwjh ds nwjh ds ,d fcUnq ij 

>aMk rFkk ehukj leku dks.k varfjr djrs gSaA >aMs 

dh Å¡pkbZ gS %  

(A)
22

22

ba

ba
.b





  (B)
22

22

ba

ba
.a





  

(C)
22

22

ba

ba
.b





  (D) 
22

22

ba

ba
.a





 

107- ,d [kEHks dk Åijh 3/4 ok¡ Hkkx {kSfrt ry ij 

blds vk/kkj ls 40 ehVj nwjh ij fLFkr fcUnq ij 

tan–1 (3/5) dks.k vUrfjr djrk gS Å/okZ/kj 

[kEHks dh laHko Å¡pkbZ gksxhA 

(A) 20 m  (B) 40 m  (C) 60 m  (D) 80 m 

108- lery /kjrh ij [kM+s ,d ehukj dh Nk;k x ehVj 
yEch gS tcfd lw;Z dk mérka'k 30º gS rFkk yEckbZ 

y ehVj gks tkrh tc mérka'k 60º gksrk gSA ;fn 

ehukj dh Å¡pkbZ 2

3
45

ehVj gks rc x – y gSA 

(A) 45 metre   (B) 345  metre 

(C)
metre

3

45

  (D) 
metre

2

3
45

 

109- 100 eh Å¡ph ehukj ls ,d O;fDr ehukj dh vksj 

vkrh gqÃ ,d dkj dks 300 ds voueu dks.k ij 

ns[krk gSA dqN le; ds ckn voueu dks.k 600 

gks tkrk gSA brus le; esa dkj }kjk pfyr nwjh 

gksxhA  

(A) 100 3  m  (B) 3

3200

 m  

(C) 3

3100

 m  (D) 200 3  m 
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110. The angles of elevation of the top of a 

tower at two points, which are at 

distances a and b from the foot in the 

same horizontal line and on the same 

sides of the tower, are complementary. 

The height of the tower is   

  (A) ab   (B) ab   

  (C) b/a   (D) a/b  

111. If 03/xtan4/3tan3/1tan 111  
, then x is 

equal to  

  (A) 7/3   (B) 3  

  (C) 11/3  (D) 13/3 

112. If ,ztanytanxtan 111  
then the alue of 

x + y + z is : 

  (A) – xyz  (B) xyz  

  (C) 1/xyz  (D) 0 

113. If 3
x2sinxsin 11 
 

, then the value of 

x :    

  (A) 72

3

  (B) 7

3

  

  (C) 0   (D) 1 

114. All the real roots of the given equation 

2
1xxsin)1x(xtan 211 
 

 is :    

  (A) 2   (B) 1  

  (C) 0   (D) Infinite 

115. 
























 

yx

yx
tan

y

x
tan 11

 is equal to    

  (A) 
 

 
   (B) 

 

 
   

  (C) 
 

 
   (D) 

4

3
or

4





 

116. If the points (5, 5), (10, y) and (–5, 1) 

are collinear then, y =  

  (A) 3   (B) 5  

  (C) 7   (D)9 

110- ,d ehukj ds ikn ls xqtjus okyh {kSfrt js[kk ij 

ehukj ds ikn ls ,d gh vksj a ,oa b nwjh ij 

fLFkr nks fcUnqvksa ij ehukj ds 'kh"kZ ds mUu;u 

dks.k iwjd dks.k gks] rks ehukj dh Å¡pkÃ gksxhA  

(A) ab   (B) ab   

(C) b/a   (D) a/b
 

111- ;fn 03/xtan4/3tan3/1tan 111  
, rks x cjkcj 

gS  

(A) 7/3   (B) 3  

(C) 11/3   (D) 13/3 

112- ;fn ,ztanytanxtan 111  
rks x + y + z 

dk eku gksxkA 

(A) – xyz   (B) xyz  

(C) 1/xyz   (D) 0 

113- ;fn 
3

x2sinxsin 11 
 

, rks x dk eku gksxk &

 (A) 72

3

  (B) 7

3

  

(C) 0    (D) 1 

114- lehdj.k 2
1xxsin)1x(xtan 211 
 

 ds 

okLrfod gyksa dh la[;k gS & 

(A) 2   (B) 1  

(C) 0   (D) vuUr 

115- 























 

yx

yx
tan

y

x
tan 11

 dk eku gksxkA 

(A) 
 

 
   (B) 

 

 
   

(C) 
 

 
   (D) 4

3
or

4






 

116- ;fn fcUnq (5, 5), (10, y) rFkk (–5, 1) lajs[k gksa 

rks y =   

  (A) 3   (B) 5  

  (C) 7   (D)9 
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117. If A(h, k) B(1, 1) and C (2, 1) are the 

vertices of a right-angled triangle with 

AC as its hypotenuse and if the area of 

the triangle is 1, then the values of k 

are :     

  (A) 0, 2  (B) 1, 3  

  (C) – 2, 3  (D) –1, 3 

118. The area of the triangle whose vertices 

are (1, 0), (7, 0) and    (4, 4) is :        

  (A) 8   (B) 10  

  (C) 12   (D) 14 

119. The distance between the orthocenter 

and circumcentre of the triangle with 

vertices (1, 0),






























2

3
,

2

1
,

2

3
,

2

1

is :          

  (A) 2

1

   (B) 2

3

  

  (C) 3

1

   (D) 0 

120. Q, R and S are points on the line 

joining the points P(a, x) and T(b, y) 

such that PQ = RS = ST, then








 

8

y3x5
,

8

b3a5

is the mid point of the 

line segment:     

  (A) RS   (B) ST  

  (C) PQ   (D) QR 

 

 

 

 

 

 

 

 

 

 

 

 

117- ekuk A(h, k) B(1, 1) rFkk C (2, 1) fod.kZ AC okys 

ledks.k f=Hkqt ds “kh’kZ fcUnq gSA ;fn f=Hkqt dk 

{ks=Qy 1 gSa] rks k ds eku gS  

(A) 0, 2   (B) 1, 3  

(C) – 2, 3  (D) –1, 3 

118- 'kh"kksZ (1, 0), (7, 0) vkSj (4, 4) okys f=Hkqt dk 

{ks=Qy gS& 

(A) 8   (B) 10  

(C) 12   (D) 14 

119- 'kh"kZ (1, 0),






























2

3
,

2

1
,

2

3
,

2

1
okys f=Hkqt ds yEc 

dsUæ rFkk ifjdsUæ ds e/; nwjh gS 

(A) 2

1

   (B) 2

3

  

(C) 3

1

   (D) 0 

120- fcUnqvksa P(a, x) rFkk T(b, y) dks tksMus okyh js[kk 

ij fcUnq Q, R rFkk S bl çdkj gSa fd PQ = RS = 

ST, rks js[kk [.M ftldk e/; fcUnq 








 

8

y3x5
,

8

b3a5
gS] fuEu esa dkSu lk gS \ 

(A) RS   (B) ST  

(C) PQ   (D) QR 
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ANSWERS 

1 D 21 D 41 B 61 C 81 A 101 C 

2 A 22 A 42 B 62 B 82 A 102 A 

3 B 23 B 43 B 63 C 83 A 103 B 

4 A 24 C 44 A 64 B 84 B 104 C 

5 D 25 D 45 B 65 B 85 B 105 B 

6 D 26 C 46 A 66 B 86 B 106 A 

7 C 27 D 47 D 67 B 87 D 107 B 

8 C 28 A 48 D 68 D 88 C 108 A 

9 C 29 A 49 B 69 C 89 B 109 B 

10 A 30 D 50 B 70 A 90 B 110 B 

11 A 31 D 51 B 71 B 91 B 111 D 

12 A 32 A 52 D 72 C 92 C 112 B 

13 A 33 A 53 C 73 C 93 A 113 A 

14 B 34 A 54 B 74 B 94 C 114 C 

15 B 35 B 55 B 75 C 95 B 115 C 

16 D 36 C 56 C 76 C 96 A 116 C 

17 A 37 B 57 C 77 C 97 D 117 D 

18 C 38 C 58 B 78 C 98 C 118 C 

19 B 39 C 59 A 79 A 99 A 119 D 

20 D 40 C 60 C 80 D 100 D 120 D 
 

 

 

 

 

 

 

 


